
Blog Worksheet 

Mathematics 

Topic: Subtraction 

Answer Key 

 

Q1. Find the difference by partition method. 

1) 28      -         14 

           - 

 

Tens:   20 - __10__ = ____10________ 

Ones:  _8__  -  4  = + _____4_______ 

 

 

2) 78      -         23 

           - 

 

Tens:   70 - 20 = ____50________ 

Ones:  __8__  - __3__   = + ____5________ 

 

 

Q2. Subtract the following and inverse check. 

1) 7436 – 2824       inverse check 

 

 7 4 3 6             4 6 1 2    

-2 8 2 4            + 2 8 2 4   

 4 6 1 2              7 4 3 6 

    

4 10 8 20 

14 

3 20 8 70 

55 



 

2) 9724 – 1361 inverse check 

 

 9 7 2 4     8 3 6 3 

-1 3 6 1  +  1 3 6 1 

  8 3 6 3  9 7 2 4  

 

 

 

3) 836 – 374 inverse check 

 

  8 3 6  4 6 2 

-3 7 4 + 3 7 4 

 4 6 2  8 3 6 


